
5th Class Learning from Home Corrections – Miss Mulholland
Week 25th May – 29th May

Master Your Maths  

Since the Master Your Maths work this week differs for everybody, please feel free to email me if you would like answers to the specific Week/Day or Tests you completed. I will try my best to get back to everybody. Don’t be shy! 

Busy at Maths
Pg. 141
Q2
a) 4 = (1, 4), (2, 2)   |   1, 2, 4
b) 9 = (1, 9), (3, 3)   |   1, 3, 9
c) 15 = (1, 15), (3, 5)   |   1, 3, 5, 15
d) 17 = (1, 17)  |  1, 17
e) 18 = (1, 18), (2, 9), (3, 6)   |  1, 2, 3, 6, 9, 18
f) 24 = (1, 24), (2, 12), (3, 8), (4, 6)  |  1, 2, 3, 4, 6, 8, 12, 24


Pg. 142
Q2 
a) 3 = 3, 12, 21, 27, 30
b) 5 = 5, 20, 35, 45, 50
c) 9 = 9, 36, 63, 81, 90
d) 11 = 11, 44, 77, 99, 110
e) 12 = 12, 48, 84, 108, 120
f) 15 = 15, 60, 105, 135, 150
g) 20 =20, 80, 140, 180, 200
h) 25 = 25, 100, 175, 225, 250
i) 50 = 50, 200, 350, 450, 500


Pg. 143
Q1
Prime Numbers you should be left with: 
2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97

Q2
a) 64 = 1, 2, 4, 8
b) 346 = 1, 2
c) 1,701 = 1, 3, 7, 9
d) 90 = 1, 2, 3, 5, 6, 9, 10
e) 1,446 = 1, 2, 3, 6
f) 4,328 = 1, 2, 4, 8 

Pg. 144
Q3
a) 23
b) 37
c) 53
d) 79

Pg. 145
There may be more than one answer for these questions 
Q5
8 = 3 + 5
10 = 5 + 5
12 = 5 + 7
14 = 11 + 3
16 = 13 + 3
28 = 23 + 5
32 = 29 + 3
36 = 31 + 5
40 = 37 + 3
44 = 41 + 3
48 = 43 + 5
52 = 47 + 5
66 = 61 + 5
74 = 67 + 7
82 = 79 + 3

Pg. 146
Rectangular shapes will differ from person to person. Remember the formula for area – L x W? This is just like finding the area of a rectangle, except you are making the rectangle. 

Pg. 147
Q 4
1st = 1 or (1 x 1) 
2nd = 4 or (2 x 2)
3rd = 9 or (3 x 3)
4th = 16 or (4 x 4)
5th = 25 or (5 x 5)
6th = 36 or (6 x 6)
7th = 49 or (7 x 7)

English Activity No. 2
Up and Running 
Pg. 210
D - Your answers may be slightly different to mine, that’s okay 
1. The young seagull was scared of his wings not supporting him when he takes off to fly, and the height from which he could fall. 
2. His brothers seem to be older than him, but his sister is younger – as he mentions his “little sister” and “older” brother. 
3. Eating the dried pieces of spotted eggshell was like eating part of himself because he hatched out of that egg!
4. I think it was summer because the sun was “blazing warmly” that day. Also, it is usual for spring to be a season of new life, so maybe this chick hatched in Spring, and it is now Summer and time for him to fly!
5. The sentence that tell us his parents were annoyed at him is “Gaw – ool – ah”, she screamed back derisively”.  Derisively means to mock or ridicule someone. 
6. His Mother only wanted what was best for her son – she had to persuade him to jump off the ledge and learn to fly somehow. Maybe it could be considered cruel as the young bird was so frightened and hungry – but he had to learn one way or another!

English Activity No. 3 
Spelling Rules 
1. thinnest
2. potter
3. chipper
4. fattest
5. planner
6. gladdest 
7. glummest 
8. tanner
9. wettest
10. redder
11. dimmest
12. hotter
13. madder
14. fittest
15. batter
16. trimmer
17. saddest
18. shopper
19. grimmest
20. chopper

Gaeilge Activity No. 1
Leigh Sa Bhaile 
1. Bhí an aimsir go dona, bhí sé ag cur báistí gan stad. 
2. Ní raibh Nathan ábalta dul amach mar bhí sé rófhliuch. 
3. Bháigh an abhainn an sráidbhaile.  
4. Bhí an t-uisce i ngach áit.  
5. Níor tháinig na Gardaí, tháinig an bhriogáid dóiteáin agus na saighdiúirí. 

Gaeilge Activity No. 3
Abair Liom Lth. 119
1. Is é an tAntartach an áit is fuaire ar domhan. 
2. In Éirinn, bíonn an samhradh níos teo ná an geimhreadh.
3. Bíonn an aimsir san Íoslainn níos fuaire ná an aimsir sa Sahára. 
4. Is í Cathair na Vatacáine an tír is lú sa domhan.
5. Is í Baile Átha Cliath an chathair is mó in Éirinn. 
6. Bhí sé fliuch inniu ach tá an aimsir ag dul in olcas. Beidh sé fliuch fós amárach.
7. Tá lá tirim go maith. Tá lá te níos fearr. Ach is é lá te tirim an lá is fearr.

Gaeilge Activity No. 4
Abair Liom Lth. 117 
1. Bíonn an aimsir bog agus an-fhliuch. 
2. Bíonn an aimsir an-te agus an-tirim anseo.
3. Bíonn an aimsir an-fhliuch anseo. Is minic a bhíonn sé ag stealladh báistí.
4. Bíonn an aimsir nimhneach fuar anseo sa gheimhreadh. Is minic a bhíonn brat sneachta ar an tír ar fad. 
5. Bíonn an aimsir an-te agus an-fhliuch anseo
6. Bíonn an aimsir anseo fuar sa gheimhreadh ach bog sa samhradh. 
